XT Front Bumper Guard for Cam-Am Outlander G2

ZP-YJ-030606-010

SAUT\S'

BEFORE YOU BEGIN

Read these instructions and check to be sure all parts and tools are accounted. Please retain these

installation instructions for future reference.

IMPORTANT

This Front Bumper Guard is exclusively designed for your vehicle. Please read the installation
instructions thoroughly before beginning. Installation is easier if the vehicle is clean and free of

debris.

INSTALLATION INSTRUCTIONS

1. Shift vehicle transmission into “PARK”. Turn
key to “OFF” position and remove from vehicle.
2. Products and accessories:

[ Te
P g TR g

3. Preassemble front bumper with LH cap [P2],
bracket cover [P4] and M4 x 16 screws [P7].

1. Front bumper [P1]

2. LH cap [P2]

3. Bracket cover [P4]

4. M4 x 16 screw [P7]

4. Tighten screws (hand torque).

1. M4 x 16 screw [P7]
2. Tighten screw (hand torque)
3. Bracket cover [P4]

5. Remove Torx bolt from the rack front support
(not shown).

NOTE: The cage nut, on the other side of the
support, must remain in place for re-installation.

1. Cage (elastic) nut
2. Bumper upper mount (LH)

6. Position and install front bumper upper
mounts through the rack front supports.



XT Front Bumper Guard for Cam-Am Outlander G2 ,@
SAUT\S

ZP-YJ-030606-010

9. Install M8 nut [P6] to the M8 x 20 bolt.

1. Front bumper [P1]

2. Upper mounts (LH and RH)

SulRach 1. M8 elastic flange nut [P6]
7. Secure top of bumper using previously - MB etk TIE Dov [FO]

) 3. Standard (built-in) bumper

removed Torx bolt. Just slightly tighten for now.
10. Tighten nut slightly for now.

1. Torx screw
2. Bumper upper mount (LH)

3. Front rack support

8. Secure the bottom of bumper with M8 x 20
flange bolt [P5] and M8 elastic flange nut [P6].

1. M8 elastic flange nut [P6]
2. M8 x 20 flange balt [P5]

11. Tighten lower and upper fasteners.
Note: Please refer to the installation video in
the Amazon listing before your installation, or

1. M8 x 20 flange bolts [P5]
2. Bumper lower mounts ) , ,
contact the seller for the installation video.




	BEFORE YOU BEGIN
	IMPORTANT
	INSTALLATION INSTRUCTIONS

